y = f(xo) + f'(x0) - (x —xy) - ypaBHeHue
KacaTenbHOM

f(x) = f(xg) + f'(xg) - Ax
V1+Ax21+%-Ax:f(x)
Af = f(x) = f(xo)

a— . oat
2 2

OCHOBHble TPUTOHOMETPUUYECKUE TOXKAEeCTBa:

1) 1+ ctg?a =
20 —

2) 1+tgea = —

3) tga - ctga =1

4) cosa — cosf3 = —2sin

sin?a

4) sina + cos?a =1
1) (U+V)y=u’+Vv’
2) w-vY=u-v+Vv-U a
3) (H)’ vy 1+ cosa = 2cos? >
v) vz L,
4) cCc-n'=c-U 1 — cosa = 2sin 5
1y T 1 1 — cos2a = 2sin?
5 x2) == x z=2. = = — cos2a sin“a
) ( ) 2 2 x% 2% . a8 sin (& — B)
! 1 ga—tgf =———
6) (\/x_) =57 cosa - cosf
1\’ 1 1~y 1
7) (;) =—=, & D' = = qlogab — p
log,b =0
1) (sinx)’ = cosx log,xy = log,x + log,y
2) (cosx)' = —sinx X _
1 log,—=log,x —log,y
3) (tgx)' = — y
, T log,xP = plog,x
4) (ctgx)' = — logea =1
x
log,— =1 —1
1) (a®) =a*-Ina 09a y 09aX — 109ay
2) e™?* = —2e7% l _ logyx
3) log.x =Inx ) 04a* _1logba
_ -4
4) f(X) =a* - F(X) " Ina In'x = ;
5) (ex)’ =e” I _ (plnxys
6)  (eX) =eF-(—x)' = —e* x' = (e™)
dopmynbl ABOINHOrO aprymeHTa: (In (5 +2x))' = -(5+2x)' =
1) cos2a = 2cos’a — 1 Inx 5+ 29{ 5+2x
2)  tg2a = fé’]‘ja (logsx)' = (,2)' = 7=
dopmynbl NONOBUHHOTO aprymeHTa: (log,2x)' = (anx), _ 2 _ 1
1) in2 & = 1zcosa 7 In7 2x In7  xIn7
2 2 (x%) = ax?t
2) cos> @ _ ltcosa
3) tg? 22_ 1-cosa logan b = Elo‘g“b
2 1+cosa f( ) 1
a _  sina x) = —
4) t‘g 2 %+cosa x™ 1
a _ 1-cosa
5) tg; T sina F(x) == (Tl — 1) . xn-1
®dopmynbl CyMMbl U Pa3HOCTU CUHYCOB (KOCMHYCOB): F) = a*
1) sina + sinf3 = 2sin L . cos L a*
aEB aiﬁ F(x) =—
2) sina — sinf3 = ZSinT " CoS—— Ina
3) cosa + cosf3 = ZCOS# . cos#
OpurnHan AOKyMeHTa HaxoamuTca no agpecy: www.schooll5lab.narod.ru
-
umA K ¥ € Zn # i sinx CosX ! !
; (nocToAHHaA) —1) Vx cos?x | sin?x
At 2vx | -cosx+ | . -Ctgx
F Kx + ¢ —+C s C sinx+C | tgx+C +C
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